prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

Commerce

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBseucc NET | (i7 1BPS PO

€ ssiro | (17 1BPs CLERK | <&y AFcaT | @ @) CTET
@ CSIRUGC NET | @ CAPF | (i7 IBPSRRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

PAPER-II
COMMERCE

Signature and Name of Invigilator

1. (Signature)

OMR Sheet No. :

(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.
H 0 S BE
Time : 1Y/, hours] [Maximum Marks : 100
Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 50
Instructions for the Candidates wenfeat & fow féw
1. Write your roll number in the space provided on the top of | 1. Weel I8 % W o ®IM W 7oA et TR fefaw |
this page. _ _ . . 2. M WE-OF H IO Sgaeedid U © |
2. This paper consists of fifty multiple-choice type of | 3. uder ws 89 W, TRl ST S | et
questions. ot A MUl URH-URRT Tie a7 3! EerEd
il be GV 0 you.1nhe st 5 minuie, yu arorequesied | 1 oo 1 S, Frlt o et o €
to open the booklet and compulsorily exémine it as below : (@) Wfﬁ - R AT %fgﬂi i wg_ﬂ ; ﬁ;’ﬁg /
(i) To have access to the Question Booklet, tear off g« | @:ﬁ g% T ) /
the paper seal / polythene bag on the booklet. Do not - o wifferelir < bl qferet wFR T T |
accept a booklet without sticker-seal / without (i) ®eR g8 W oY fFewTER we-gfe é? g5 qer
polythene bag and do not accept an open booklet. TTT W WET oot e Ak A B A ™
(ii) Tally the number of pages and number of questions T g*mT-} gﬁ?ﬁﬁr % sy ®9 & ar FERT 3
in the booklet with the information printed on the T O diREa § T giqiu’ra Rt oft TER |
cover page. Faulty booklets due to pages/questions Sfrqut ufesT SER T B et I T 3@
missing or duplicate or not in serial order or any S 2 3 R .
other discrepancy should be got replaced immediately z @Wﬁ ;—? Wr N a
by a correct booklet from the invigilator within the Fa oy ar= ' T
period of 5 minutes. Afterwards, neither the A IRt we-gfE A S S @R T @ st
Question Booklet will be replaced nor any extra Ffaie | T S | ‘
time will be given. (iii) g9 = % 1K OMR U= Sl hH & 39 TeH-GRdH
(iii) After this verification is over, the OMR Sheet Number W AT T |
should be entered on this Test Booklet. 4. WW é;f?,.rq IR 3T ﬁ—cb—(,q' (A) (B) (C) q«an (D) fg—a
4. Each item has four alternative responses marked (A), (B), ¥ | e T ST F I ﬁq’@ ﬂ'&b‘{ AT FET
(C) and (D). You have to darken the circle as indicated below S FE S e T R
on the correct response against each item. _ o) T TR |
Example : (&) ® O 33'?”"@ @ © % ©
where (C) is the correct response. 5. WAl o ST hael 99 O | o e T OMR W Wl
5. Your responses to the items are to be indicated in the OMR 3ifehd FT & | A T OMR T W {53 T g % areren
Sheet given inside the Paper | Booklet only. If you mark Tt 311 T W) 3R feeAithd e €, df ST Joaih
atany place other than in the circle in the OMR Sheet, it will T2 BT
not be evaluated. - ;
4 ed. 6. 3T feF T SR B AHEF UE |
6. Read instructions given inside carefully. e ‘IFWT*T e ;
7. Rough Work is to be done in the end of this booklet. 7. e @™ (Rough Work%ég -;F% TS a;;%
8. If you write your Name, Roll Number, Phone Number or 8. ¥ OMR 3 T M = Sl 3 T,
put any mark on any part of the OMR Sheet, except for the TR, H AR AT HE A CH e el st wew A
space allotted for the relevant entries, which may disclose T, BT A ¢ I A YT < VA A €, A B
your identity, or use abusive language or employ any other 3T I T B TN R €, O W & o e
unfair means, you will render yourself liable to oqiYd T ST 9 © |
disqualification. 9. 3T TR TAT & T oI OMR W5 8T Feigd i
9. You have to return the original OMR Sheet to the invigilators

at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is no negative marks for incorrect answers.

10.
11.

TACHT STavgs & SR T A & o5 39 U 91y
TRIET I © e T oI S | BTl ST Ui eI
OMR % & Fwiiche Ui 370 T1e of ST Wbt & |
FHAA AA/FA AT @EES YT B & @A B |

e oft U T WU (PGSR AT ANT LA AT B
T afaa & 1

. TTeter ST % feTT g 3fes 1 =&l St |

J-08-13

P.T.O.

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




COMMERCE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. All questions are compulsory.

Direct supervision over depositories
and mutual funds is undertaken by

(A) NBFCs
(B) RBI
(C) SEBI

(D) All of the above

In the call/notice money market,

which of the following participants is

allowed to trade ?

(A) All Banks, Primary Dealers and
Mutual Funds

(B) All Corporates

(C) Only Commercial Banks

(D) All of the above

Match the items of List-1 with the
items of List-11 and select the correct

answer :
List—1 List—11

(i) Private (a) Secondary
ownership Market
and Free
Enterprise.

(i) Government  (b) Capitalism
ownership
and Central
Authority.

(i) The market (c) Primary
for the sale Market

and purchase
of previously
issued
securities.

(iv) The market (d) Socialism
for new long
term capital.

Codes :

(i) () (i) (iv)

(A) (b) (d) (@ ()

B) (@ () () (@

(€ (b) (@ () ()

O) @ () (b (@
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The apex consumer court in India is
referred to as

(A) The Consumer Education and
Research Centre.

(B) The Consumer Unity and Trust
Society.

(C) National Consumer Disputes
Redressal Commission.

(D) None of the above

Who is Chairman of 13" Finance
Commission ?

(A) Dr. C. Rangarajan

(B) Mr. Vimal Jalan

(C) Dr.Vijay C. Kelkar

(D) None of the above

Insurance expenses paid to bring an
equipment from the place of
purchase to the place of installation is
a type of

(A) Revenue expenditure

(B) Capital expenditure

(C) Deferred revenue expenditure
(D) Operating expense

ABC Ltd was incorporated with
an authorised Share Capital of
T 1,00,000 equity shares of T 10
each. The Board of Directors of the
company decided to allot 10,000
shares credited as fully paid to the
promoters of the company for their
services. Which account should be
debited in the books of ABC Ltd. ?

(A) Promoters’ Account
(B) Services Account

(C) Goodwill Account

(D) Share Capital Account

Vacancies and updates on one click
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(D) S . |
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RS (B) . fomet Stem=
(B) Fl HRURH (C) =i facta =i, FHere
(C) et anfoTTreh St (D) SwIE H | HE Tl
(D) ST Tt
3. gl — | @ 9 @ g - || # AR H A & I T TR0 A % = I
T gHferd AR A9 KT Fh 9§ TE@ AT ST ATl STHT & ford o T
3L T IIT Y- ST 17 fhy TR 1 ST & 2
= - | = - 1 (A) o ==
() Fet = (a) GEear (B) ST =
A STH T SR (C) wfiTe IoTed =1
(i) TR w@fes e (b) dsias (D) uR=ETeH &
qdr
(il T’é Wﬁ <o (©) quni = ABC Ltd it 3 10 % wwar siwit =1
TS E{E H AR N 10,00,(;(;) aﬁaﬁ%mvﬁ%w
_ . (i &l STt & | ST o EeTeteh
(iv) T ST g7 (d) TS TS HET o Vol bl Skl Qe
T A % foT 10,000 391 Yol vew % &0 o
kX Shige Y STETed T T T
£ | ABC Ltd & &bl § 9 1 @l
() (i) (i) (iv) Sfere fham ST =nfeT 2
A) (b)) @) @ () (A)  TIoihi T G
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D) @ (@ (b (@ (D) 3 GSit @relt
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10.

11.

In a reconstruction scheme, the
reduction of capital may take the
form of

(A) Reducing the liability of the
shareholders in respect of any
unpaid amount on the shares
held by them.

(B) Paying-off any paid-up share
capital which is in excess of its
requirement.

(C) Cancelling any paid-up share

capital which is lost or
unrepresented by available
assets.

(D) All of the above.

While determining the normal rate of

return for the valuation of shares in

Market Value Method, which of the

following should be taken into

consideration ?

(A) The degree of risk involved.

(B) The current rate of interest on
gilt-edged securities.

(C) Weighted average cost of
capital.

(D) All of the above.

Master budget is a

(A) Functional Budget
(B) Operating Budget
(C) Summary Budget

(D) Financial Budget

Assertion (A) Want-satisfying
power of a commodity is called
its utility.

Reason (R) : Utility may not have
the characteristic of morality.

Codes :

(A) Both (A) and (R) are correct.

(B) (A) is correct, but (R) is not

correct.

(C) Both (A) and (R) are not
correct.

(D) (R) is correct, but (A) is not
correct.

12.

13.
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Match the items of List-1 with those
in List-1l and select the correct code
for the answer :

List—1 List— 11
(@) Contraction (i) Non-Price
of Demand change effect

(b) Decrease
in Demand

(i) Demand curve
remains  the
same

(c) Increase in (iii) Price change
Demand effect

(iv) Shifts the
Demand curve

(d) Expansion
of Demand
Codes :

@ (b) () ()
(A) (i) (i) (v) (i)
(B) (iv) (iii) (i) (i)
€ (@ (i) (i) (iv)
(D) (i) (v) () (i)

Assertion (A) : As the proportion of
one variable factor in a
combination with fixed factor
is increased, after a point the
marginal product of the factor
will diminish.

Reason (R) : Beyond the level of
optimum combination of inputs
leads to this.

Codes :

(A) (R) is appropriate reason of
(A).

(B) (R) is not appropriate reason of
(A).

(C) (A) and (R) are not related with
each other.

(D) (A) is independent of (R).




10.

11.

JEAT R H, ST T AR

FT EY o Fehell & 2

(A) SEmiEl & el W o
Ed UM ok T H IR
AT HH HEAT |

(B) fwdt = ofer USW, S SToAr
TERIHA § 3AGH §, H A

FLEAT |

(C) ot oft <= 3fer G, STt T &1 7T
T A1 ST IREHET SR SHehT
Tt T8l &, i T B |

(D) 3w @t

ISR qod TS1d H, 30 6 qod TR
% fou ufawer =6t 9 ST [uiia s
Ty feAffEa 4 9 69 &9 9 @

ST =T 2

(A) 3T SifEy =i Hife

(B) &I Wiferal W =TT i o] X
(C) TSt bt IR 3ad AT

(D) Swds T

AR ST BT &
(A) THETHS T
(B) uR=eH S
(C) TR ™1
(D) foxi aste

AMMHYT (A) : T HI SELIRAT Hl
I HH B Ve STARTT
FRA & |

FHRT (R) ;. SURIATAT § Afcehdr

foroTeraT et &t qehet & |

&<

(A) (A) 3T (R) THT T & |

(B) (A) el g, W= (R) W&l &l ¢ |
(C) (A) 3R (R) I T & |
(D) (R) Wl &, W= (A) T& F&i € |

12.

13.
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R I & Tel T 1 a9 Y

= - | = -

(a) AFTEFET  (j) TR-HAT aRERT
pEic)

(b) T H FH  (ji) HAT T T @A E |
(c) AT HFRE (i) P ARE T

(d) HT T foRA () HIT 56 T
aRafdd R § |

w':

@ (b «© (@
(A) (i) (@) (@iv) (i)
(B) (v) (i) (i) ()
© (@ (@) (i) (iv)
(O) () (v) (i) (i)

aAfie (A) 5 foRdt fer wRE &
S GISH T URadr $Re% H
AT Tl & A TH o5 F A
3T FRE B YT SIS HH 8T |

&HRT (R) e ) 1o
T % TR W e feafq et
g

(A)  (R), (A) 1 FHfad HRUTE |

(B) (R), (A) 1 THfere ROT &l € |

(C) (A) ¥R (R) Th TW % @™
Trafeerd TEl E |

(D) (A),(R)F@ETAT |
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14.

15.

16.

Match the items of List-1 with the
items of List-1l1 and select the correct
answer.

List—1 List— 11
(@) Indifference (i) Slopes

Curve downward to
the right

(b) Demand (i) P=AR=MR=d
Curve

(c) Perfect (iii) Oligopoly
Competition

(d) Price (iv) Convex to
Leadership the origin

Codes :

@ () «© (@
(A) (i) (i) (iv) ()
(B) (i) (iv) () (i)
© (v) () (i) (i)
(O) @) (@) (i) (iv)

Price, Marginal Revenue and
Elasticity are related to each other.
Whene =1, then:

(A) MR>0
(B) MR<O0
(C) MR=0
(D) MR=1

Consider the following statistical
tests :

(1) “F’ test
(i)  “t’ test
(i) *z’ test

(iv) *Chi-square’ test

Which of these are parametric tests ?
(A) (i), (i) and (iv)

(B) (i), (iii) and (iv)

(C) (i), (ii) and (iii)

(D) (i), (iii) and (iv)

17.

18.

19.

Latest Sarkari Jobs, Govt Exam Results,
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The difference
statistic and its
population parameter is
(A) Sampling error
(B) Measurement error
(C) Coverage error

(D) Non-response error

between sample
corresponding

Match the items in List-1 with items
in List-11.

List—1 List— 11
(i) Level of (a) Sample
significance mean IS
equal to
population
mean
(i1) Standard (b) Parameters
deviation of
sampling
distribution
(111)) Numerical (c) Type-I
value  that error
describes the
characteristi
cs of the
population
(iv) Normally- (d) Standard
distributed error
population
Codes :
() @) (i) (iv)

(A) d (© @ (@b
B) (© @ b (@
€ @© ® @ (@
O) @ ® © @

Kendall’s co-efficient of

concordance is used to

(A) Test the difference among two
or more sets of data.

(B) Test the relationship between

variables.

(C) Test the variations in the given
data.

(D) Test the randomness of
samples.




14.

15.

16.

A — | W B g — || HEE H
1T GAfeTd Y 31T SR % o Tt Fe
T I B :

= - | =t - 11
(a) ST 96 (i) IR SR

clef

e T |
(b) O =3H (ii) P=AR=MR=d
(c) Yot UfcrfiTer (i) STeaerehe

(d) FFE g (iv) 7 fog 6w
3T

FT

@ () «© (@
(A) (i) (i) (iv) ()
(B) (i) (iv) () (i)
€ (@v) () (@) (i)
(O) (@) (i) (i) (iv)

HIEd, G STATH T2 g U g
qEfua € |Se=1¢8dl

(A) MR>0 (B) MR<O0

(C) MR=0 (D) MR=1

FATAREe WiReTsh i TR I &7 § 2
(i) “F oo

(i) “t’ oo

(iii) “z’ wReTor

(iv) ‘TR TXeqoT

SUER H | I T ATaIfersh TRIETT § 2
(A) (i), (ii) =R (iv)

(B) (i), (iii) =R (iv)

(©) (i), (ii) =i iii)

(D) (i), (iii) 3 (iv)

17.

18.

19.
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Uiqeyl Hitegen! 3T 396 a GHE
T o S 3 &

(A) e e
(B) W e

(C) wawt e
(D) RIW e

gl — | & wRE H g - | A AR F

Tt - | =t - 1
(i) WeEmam & (a) WiOES 9T gEe

W 1A o SR &
(i) "iqea= s (b) wr=e

T A

forae™
(iii) A = (c) ewRU-I qfe

[ENEGIECa)

U

e

TS oI

(iv) Wwﬁ (d) 9= Ffe

T4

() @) (i) (iv)
A) @ © @ @O
B) © @ G @
€ © ® @ @
O) @ ® © @

heTeT T GEA (hiARIS) FHI IO
FIT GLRTOT XA o Tord SuAnT fohar S
g2

(A) S F I AT AR T F
e 3T ST IXIRT0T

(B) =RI % S W= <l GLI&T0T
(C) <& T afisket # feremor ht adieTor
(D) WG S ATGreyehar ST UXIeToT
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20.

21.

22.

Which of the following softwares are
used for data processing ?

(i) EXCEL

(i) ACCESS

(iii) SPSS

(iv) STAR

(v) PASW

Codes :

(A) (i), (ii), (iii) and (v)
(B) (i), (iii), (iv) and (v)
(C) (iii) and (iv)

(D) (), (iii) and (iv)

Match the items of List-1 with the
items of List-11 and select the correct
answer.

List—1 List— 11
(i) Grapevine (a) Task
group
(i) Formal (b) Field force
group theory
(iii) Informal (c) Gossip
group
(iv) KurtLewin (d) National
group
Codes :
() @) (i) (iv)

(A © @ @ O
B) @ (@© b @
€ @ (@® (© (@
D) b @ @ (o)

Who has suggested that achievement
motivation among individuals and
nations can be developed through
training courses ?

(A) MeClelland
(B) Alderfer
(C) Maslow

(D) Herzberg

23.

24,

25.

26.
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Assertion (A) When span of
control is wide co-ordination
and control becomes difficult.

Reason (R) : In a narrow span, levels
of authority reduces.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not a correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

The general pattern of behaviour,
shared belief and values that
members have in common is known
as

(A) Organisation climate
(B) Organisation culture
(C) Organisation effectiveness
(D) Organisation matrix

Which of the following is not a
principle of management according
to Henri Fayol ?

(A) Subordination of individual
interest over the organisational
interest

(B) Esprit de crops.

(C) Unity of Managers

(D) Unity of Direction

Which of the following concepts is
based on development, design and
implementation of marketing
programmes, processes and activities
that recognise their breadth and
interdependence ?

(A) Product concept

(B) Sales concept

(C) Societal marketing concept

(D) Holistic marketing concept



20.

21.

22.

<2 TR % for frefetfad ® & foe

GIFAgY 1 3TN fehar ST & 2

(i) EXCEL (i) ACCESS
(iii) SPSS (iv) STAR
(v) PASW

&<

(A) (), (i), (iii) 3% (v)
(B) (i), (iii), (iv) 3% (v)
(C) (iii) 3R (iv)

(D) (i), (iii) & (iv)

gl — | B AR B gE — || ER E
T G 3R TE IR H T

‘_’5{-2
=it - | =t - 1
(i) UgemeA (a) & TA
(i) =i a9g (b) oo & fagma
(iii) FT=RE  (c) TIRI™
e
(iv) e e (d) T e
T
(i) (i) (i) (iv)
A © @ @ (b
B) d (© b @
© @ (b @© (@
D) b (@ @ (©
Ig fore gea T o sfoat iR e
o dTe IqcATH SO0 HRTeT0T qreasha
& Oregq 9 forepidd bt ST Hehell € 2
(A) HHeTIUS
(B) Te=Tw
(C) wraet
(D) &stent

23.

24,

25.

26.
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afirmem (A) ST = # fagta
(heTE) ATH ¢ A FHSE qdl
=T HfeT g ST € |

&R (R) . Geprot fagta @t feafa
H, HT % & 6 &l S & |

E T

(A) (A) &R (R) 5FT ¥ & 3R (R),
(A) & T& AT T |

(B) (A)aﬁT(R)ﬁzﬁW?W(R),
(A) F TE T TR T |

(C) (AT & W (R) 3TAE |

(D) (A) 3@ &, W (R) T ¢ |

e W R, Ul ¥Romel S

el 1 AT U2 ST b et & ot

TG €, T FHEAT & 9

(A) T T AR

(B) T i TGP

(C) e I TRt

(D) e e

TR ®AT % SER Fefated 7 #
I G U o (G T8l ¢ 2

(A) =R fed & T W TS
fedt =l s

(B) = WM
(C) VST i Tehell
(D) e =l wed
frefefad srauromet # ¥ ®F 9@
TEYRON o AT (fesire) 31T
fouom ST & ThaTeeE, ulshateT

qen Tiafafaat woemdiia € S S
T o STaFRAT i WHH Tl & 2

(A) ST STEEROT

(B) fersht 3taemon

(C) armIfsTes faqum ht STaremom
(D) TH¥ T T LRI
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217.

28.

29.

The concept of marketing-mix,
consisting of the 4 P’s of marketing,
was developed by

(A) E. Jerome McCarthy
(B) Peter F. Drucker

(C) Philip Kotler

(D) William J. Stonton

The selling concept is most likely to
be used by firms which sell

(A) Convenience goods
(B) Shopping goods
(C) Speciality goods
(D) Unsought goods

Match the items of List-1 with those
of List-1l and select the correct
answer from the codes given below :

List—1 List—11
(@) Everitt (i) Service
M. Rogers Quality
Model
(b) J.D. Power (if) Three types
of
marketing

for services
(c) Parasuraman, (iii) Quality

Zeithaml and rating of

Berry automobiles

(d) Gronroos (iv) Diffusion of
innovation

Codes :

@ () () (@)
(A) (i) (i) (1) (iv)
(B) @) (i) (i) (iv)
(€ (i) @) (v) (i)
(D) (v) (i) (1) (i)

30.

31.

32.

33.

34.
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Consumer attitudes and beliefs about
diet, health and nutrition are
influenced by

(A) Economic environment
(B) Cultural environment
(C) Social environment
(D) Natural environment

Positive NPV in project appraised by
a firm may not occur an account of

(A) Economics of scale
(B) Market reach

(C) Product differentiation
(D) Intangible benefits

In case the projects are divisible
under capital rationing an appropriate
project appraisal method is

(A) Net Present Value Method

(B) Profitability Index Method

(C) Internal Rate of Return Method
(D) Payback Period Method

Permanent working capital s
generally financed through

(A) Long term Capital Funds
(B) Government Assistance

(C) Internal Financing

(D) Short term loans from Banks

The appropriate ratio for indicating
liquidity crisis is

(A) Operating ratio

(B) Sales turnover ratio

(C) Current ratio

(D) Acid test ratio
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Who proposed a model to apply
economic order quantity concept of
inventory management to determine
the optimum cash holding in a firm ?

(A) Keith V. Smith
(B) Miller and Orr

(C) William J. Baumol
(D) J.M. Keynes

Which of the following is not
included in the model of the systems
approach to Human Resource
Management ?

(A) Human Resource Planning
(B) Recruitment and Selection
(C) Performance appraisal

(D) Departmentation

It is generally easy to measure the
performance of the

(A) Industrial Relations Manger

(B) Research
Manager

and Development

(C) Sales person
(D) All of the above

Which one of the following is not a
monetory incentive to sales people ?

(A) Bonus
(B) Staff meeting
(C) Travelling allowance

(D) Both (B) and (C)
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Statement (i) : Sound industrial
relations are essential to
achieve individual, team goals
and organizational goals.

Statement (ii) : Congenial labour
management relations create an
atmosphere of harmony and
low rate of absenteeism.

(A) Statement (i) is true, but (ii) is
false.

(B) Statement (ii) is true, but (i) is
false.

(C) Both statements are true.
(D) Both statements are false.

Out of the following, which are the
schemes of Social Security ?

(1)  Provident Fund Scheme
(if)  Health Insurance Scheme
(iii) Job Guarantee Scheme
(iv) Maternity Benefit Scheme
(v) Merit Promotion Scheme

(vi) Compulsory and Voluntary
Social Insurance Scheme

(vii) Child Insurance Scheme
Codes :

(A) (i), (i), (iv) and (vi)

(B) (i), (i), (v) and (vii)

(C) (iii), (v), (iv) and (vi)
(D) (iv), (vii), (iii) and (ii)

RBI ensures that banks operate
within the set norms by conducting
inspections and

monitoring.

(A) on site, off site
(B) off site, on site
(C) onsite, field
(D) field, on site
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Under Section 37 of the Banking
(Regulation) Act, a moratorium order
can be issued by the High Court for a
maximum total period of

(A) One month

(B) Six months

(C) One year

(D) One and a half year

Bonds or debentures issued by
Securitization company should bear
interest not less than

(A) Bank Rate

(B) Prime Lending Rate

(C) 1.5% over the Bank Rate
(D) 1.5% over the Saving Rate

Section 131 of the Negotiable
Instruments Act extends protection to
the

(A) Collecting Banker
(B) Paying Banker

(C) Advising Banker
(D) Confirming Banker

When a customer, by a letter has
advised the bank not to honour/pay a
particular cheque, such letter is called

(A) Cancellation letter
(B) Garnishee letter
(C) Mandate

(D) None of the above
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Flow of foreign loans and
investments affect

(A) Trade balance

(B) Current Account balance
(C) Capital Account balance
(D) None of the above

Concessions mainly multinational in
character come under the principle of

(A) Non-discrimination
(B) Reciprocity

(C) Market Access

(D) Fair Competition

From the following identify the one
which is not a commercial counter
trade ?

(A) Classical barter

(B) Counter purchase
(C) Pre-compensation
(D) Buy-back agreement

If the spot price is higher than the
strike price in a call option, it is
referred to as

(A) At-the-money

(B) In-the-money

(C) Out-of-the-money
(D) Premium

Identity the item which does not
include under Current Account
transaction.

(A) Services

(B) Non-monetary movement of
gold

(C) Unilateral transfer
(D) Investment income
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